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Tabla rutas RE1 Tabla rutas B2 (proxyAEP) Tabla rutas E3 (proxvARP) Tabla rutas R4
Red Sig. |Imterfaz Eed Sig. |Interfaz Red Sig. |Interfaz Red Sig.  |Inmterfaz
6.7.8.0/28 - 1 6.7.8.0v28 2 6.7.8.0/28 [6.7.8.30 3 6.7.8.0/28 16.7.8.17 1
6.7.8.1629 |6.7.8.2 1 6.7.8.16/29 - 1 6.7.8.16/29 |6.7.8.34 1 6.7.8.16/29 - 1
6783228 16.7.849 2 6.7.8.32/28 16.18.18 1 6.7.8.32/28 - 1 6.7.8.32/28 - 2
6.7.8.48/30 - 2 6.7.8.40/29 2 6.7.83.40/20 | 6.7.833 2
6.7.8.48/30 3 6.7.8.48/30 [6.7.8.17 1 k oy kﬁ(L-P_’
Maquina A: direccion IP=6.7 8 38/28, Router sigmiente salto=6.7 8 34 (1pR4.2)
Maquina B: direccion IP=6.7 8 8/28 Router siguiente salto=6.7.8.1 (1pR1,1)
Maquina C: direccion IP=6.7 8 44/29 Router siguiente salto=6.7 .8 41 (1pR3,2) £ 2.3
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Tabla rutas R1 Tabla rutas B2 (proxyARP) Tabla rutas R3 (proxvARF) Tabla rutas R4

Red Sig. |Interfaz Eed Sig. |Interfaz Red Sig. |Interfaz Red Sig.  |Imterfaz
6.7.8.078 e 1 6.7.8.0/28 5 2 678028 [67850] 3 678028 (67817 1
67816729 [6782[ 1 6.7.8.16129 a 1 6781629 67834 1 6781629 | - 1
6783228 167849 2 6.7.8.32/28 16.78.18 1 6.7.5.32/28 - 1 6.7.8.32/28 - 2
6.7.8.48/30 - 2 6.7.8.40/29 2 6.7.8.40:29 [6.7.833 2
6.7.8.48/30 3 6784830 [67817] 1
Maquina A: direccion IP=6.7.8.38/28, Router siguiente salto=6.7.8.34 (1pR4.2) y AX
—
Maquina B: direccion IP=6.7 8 8/28, Router siguiente salto=6.7 8.1 (1pR1,1) % K L/
2
Maquina C: direccion IP=6.7.8.44/29, Router siguiente salto=6.7.8.41 (iIpR3.2) 4 yp g3 ) Rz Y- Ho /2o
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